A K OB =

I £ 4 UJ%HEIZT*(‘U'—!:Z-{Z/’;" E&I{!%%I$
I % 5 R |ABETILTETIFEA
A+t £ A B |[FM4F1A188 () 9FF30%
A # %m B |AEBWRET SKE HERK#EE2-3

T E i 4 (B R 9,900,000/ HEGRME (Rik)| 7,920,000 ,
TR (RA)| 10.890,000{F HEHMBME(BRA)|]  8712,000/H

A A& [HEAM ] @8 [ HEAd

WE | momiaL | mE

MEBKE | 10,200,000 @@ 10,000,000] 28

e

(T mEz g 10,500,000| #2:8 ~10,050,000| &8

BRE 10,100,000/ 28 BiE
DIYOKETIXE |#HE

9,870,000| &% HIE E4l

[t o 2 ~10,280,000| 28

10,090,000 &8
10,070,000 ;8

| iR 10,500,000( i

1
2
3
4
5|3 AR M 10, 550000 i
6
7
8

MEESTEK 110,500,000| i2:8

~ 10,050,000| 238

WE  SRANLSEICI0 o ST SEEMAL - S EAER L OGRS,

% N F Btk = ALMmE BiA & EFLCRH) AR H B W 8
=B 9,870,000 1§ | 10,857,000 [ 987,000




BrEE L ARAHRE
M EEEF | AETIEBTHERTER
| UMK T A F— 2T o & — ST

T E & B o | |
T = o BT AEHLEIHHA
T o= & B EREIE

|

WHHEST A = C AT S —DRBRA T—, BERESORE

IE | |
T f B E
IEEFRH 40 44 1A20H

7 45 3A 258

T % 52 /i B 0

4 10, 857, 000




